S ENE [tk

#fl - SUS303

HALDER TOHATSU

! j i N
[ ¥ Y
- - ﬁ ? L 2ig A .__.J & G !
a2 BF HF = I_J L;}
#E | &2 | HE| B | 48 | RE r_
2 {RR] o) |ne| B B i
SUS303| - SUS303 | &8
EIED R B1 B2
SUS303| - - ~ |SUs303] #Ese HiEE EsinES
# B R B | g A B C|D|(E|F| G| H|K|N]|WS ﬁi(?:z) 5
ReE Ses :g:gi - min. | min. & e (g)
22120.0005 22120.0405 5 |M10x1.0| 21 |450] 17| 5| 5| 15 12] 60 14 | 190
22120.0006 22120.0406 Bl | 6 |[Mi2x15|25(545( 20| 6| 6 | 17 14| 55| 13 | 310
22120.0008 22120.0408 mm= 8 |Mi6x15|31]s00(26| 8| 8| 23| |  [19]115] 28 | 710
22120.0010 22120.0410 10 |M20x15] 31 |80.0] 33| 10| 10 | 30 22 [23.0] 54 [1150
22120.0025 22120.0425 5 [M10x1.0 3017 5| 515 6{ms5|]12] 60/ 14 | 140
22120.0026 22120.0426 B2 | 6 |M12x15 00[20] 6| 6| 17|10|Me|14] 55] 13 | 230
22120.0028 22120.0428 sm=| 8 [M1ex15]  [540/ 26| 8] 8] 23 1 | mg |19 [1L5 [ 28 | 540
22120.0030 22120.0430 10 |M20x15 650( 33 10| 10 | 30 22 [23.0] 54 | 79.0
22120.0115 22120.0515 M10x1.0 5.2
22120.0116 22120.0516 RPN S T ECTIC] A U U N I O O A S 7
22120.0118 22120.0518 i M16x1.5 18.0
22120.0120 22120.0520 M20x1.5 320
[Sp. ES2 S [ Ps. Bi:a i EX ZRHE =
IBF/RFE LI T OOME 0 EOARE o TR 0 BT - WIERI0RBIME 22120.0005
EREEEETE  EETEENEAT
- EECFEREEAS AL 0 (R ERYEIE S
- BIEFERE-30°C~+80°C » BB BEmax.250°C
(Wa.PE 350
SEEETREERTHER  REEHUEENT
ansi EEEABRT
22120.0005 | 22120.0405 | 22120.0025 | 22120.0425 |G0°CEIE » =25
22120.0006 | 22120.0406 | 22120.0026 | 22120.0426
22120.0008 | 22120.0408 | 22120.0028 | 22120.0428 |GO°CEIE » F35
22120.0010 | 22120.0410 | 22120.0030 | 22120.0430
CB ERA
r“f"ﬁ

%
o —

TR

LY

1B BT - 5T 0N

HFEM

SRIFER BT 0 S5F AR



